



Date: 11/20/2017

Page 1 of 6

	an Diego ontact for Delivery Address	LOGISTICS 3870 KEARNY VILLA RD SAN DIEGO CA 92123			Billing Contact: AMANDA AYCOX Telephone: E-Mail:AAycox@sandiego.gov			
Vendor	Atos IT Solutions & Services In PO Box 125009 San Diego CA 92112-5009	nc	wit De	rms: hin 30 d livery T 9B Desti				
	Ũ				Device			
				yer:	Ray Falco			
Vendor	ID: 10026965 Telephone:(513) 767-69	979 E-Mail: Atos-CoSD-Billing@atos.r		lephon	<b>e:</b> 619-236-6	0037		
Vendori	<b>D.</b> 10020303 <b>Telephone</b> .(313)707-03	979 <b>L-Mail.</b> Alos-Cood-Dining@alos.i	E-I	Mail:	RFalcon@	sandie	ego.gov	
Line #	Item ID/Description Serv # Service Description		Quantity/O	rd UoM	Unit Price/Pr Conv Fac		Exter	ded Price
1	770000470 - ECDC-PROJECT MGMT;1239	11/11/2017	28	EA	68.00	EA	USD	1,904.00
	PO released NTE purchase order value or as ma Update insurance and business tax as required.							
****	City of San Diego- Fire Department Station #2 182436 Quote: DM0077863 Description of Work: City San Diego Fire Depart drawings dated 06/10/15 and site survey with customers Shawn Fisher and G and materials to complete the following work in accordance with o standards and materials. Install cat6 phone/data cabling with hangers as needed indicated wall/floor outlet locations, terminate on rack mounted patch pand testing, and label. Furnish data switch patch cords and work area outlet co TV outlets from B003 to indicated wall outlet locations. Provide wall outlet terminate on CATV backboard splitter network, test and label. Install Rack, cabl cable runway in room BOO3 for cable support from incoming conduits and chase Install voice patching between Telco D-mark and cable rack. Extend II for Emergency Phone, Fire Alarm panel, Elevator equipment room, and Furnish and install a Viking E 1600-A, Emergency Phone. Note, quote does no equipment which will need to be requested and quoted separately. Als and to confirm the installation of 1MB (POTS Lines) that will be req Item completely delivered	aretchen Herr, furnish labor established DoIT d from room B003 to nels, perform certification ords. Install RG6 COAX to et trim and coupler, ole management, and e to rack and back board. IMB (POTS Lines) to outlets d as otherwise directed. not include costs of network lso, Customer to coordinate						
2	770000470 - ECDC-LABOR;1239 Install cat6 V/D outlet, place hangers, cable, jacl	11/11/2017 sks, terminate & test	50	EA	302.50	EA	USD	15,125.00
****	Item completely delivered							
Notes: Th	ne Terms and Conditions of this Purchase Or	rder are available at http://sandiego.gov/	purchasing/	/	SEE	LA	ST F	PAGE
	IMPC	DRTANT!			_		ΓΟΤ	
To ensur directed t	e prompt payments, PO # must appear to <i>Billing</i> Contact person at <i>Bill-To</i> addre		nvoices m	ust be		11		





Date: 11/20/2017 Pa

Page 2 of 6

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc U Conv Factor	om Exte	ended Price
3	770000470 - ECDC-LABOR;1239	11/11/2017	20 EA	211.75 E	A USD	4,235.00
***	Install COAX TV outlet, place cable, connectors, trim plate Item completely delivered					
4	770000470 - ECDC-LABOR;1239 Install rack, cable managers and runway in MDF, Lump Sum	11/11/2017	1 EA	2024.00 E	A USD	2,024.00
***	Item completely delivered					
5	770000470 - ECDC-LABOR;1239	11/11/2017	16 EA	66.00 EA	USD	1,056.00
***	Comm Tech, ancillary tasks, analog patching, install E phone, ex IMB Item completely delivered	ttend 6				
6	770000471 - ECDC-MATERIAL;1239 TE620R-xxII, 62 0 Series, Cat 6 UTP Cable, CMR, Pull box; x 10	11/11/2017	25 EA	308.63 E.	A USD	7,715.75
***	Item completely delivered					
7	770000471 - ECDC-MATERIAL;1239	11/11/2017	100 EA	11.47 EA	USD	1,147.00
***	2291216-5_ Cat 6 Modular Jack, unshielded KL, Orange Item completely delivered					
8	770000471 - ECDC-MATERIAL;1239	11/11/2017	50 EA	2.91 EA	USD	145.50
****	2111037-Y_ 2 port , straight, Single Gang Faceplate, integrated Item completely delivered	labeling				
9	770000471 - ECDC-MATERIAL;1239	11/11/2017	2 EA	478.39 E	USD	956.78
****	PP48AC6T _48-Port, Cat 6, Dynamic Angle, with loaded 6-pack Item completely delivered	modules				
10	770000471 - ECDC-MATERIAL;1239	11/11/2017	1 EA	243.23 E	USD	243.23
****	PP24AC6T_24-Port, Cat 6, Dynamic Angle, w/loaded 6-pack mc Item completely delivered	odules				
11	770000471 - ECDC-MATERIAL;1239	11/11/2017	4 EA	68.79 E/	USD	275.16
***	1375158-1 _2U Finger duct cable mgmt. panel w/cover-front & re Item completely delivered	əar				
Notes: Th	ne Terms and Conditions of this Purchase Order are availab	ble at http://sandiego	.gov/purchasing/	SEE L		PAGE
	IMPORTANT!				R TO	
To ensure directed to	e prompt payments, PO # must appear on all shipm o <i>Billing</i> Contact person at <i>Bill-To</i> address listed abo	ents and invoices; ve	all invoices must be			





Date: 11/20/2017

Page 3 of 6

Serv#         Service Description           70000471 - ECDC-MATERIAL;1239           TCPC-6RUVB-OR07F_ Slim Line Category 6 Patch Cable Assembly tem completely delivered           70000471 - ECDC-MATERIAL;1239           TCPC-6RUVB-OR15F_ Slim Line Category 6 Patch Cable Assembly, tem completely delivered	11/11/2017	50	EA	13.07	EA	USD	653.50
tem completely delivered 70000471 - ECDC-MATERIAL;1239 TCPC-6RUVB-OR15F_ Slim Line Category 6 Patch Cable Assembly,	11/11/2017	50					
TCPC-6RUVB-OR15F_ Slim Line Category 6 Patch Cable Assembly,		50					
		00	EA	17.68	EA	USD	884.00
70000471 - ECDC-MATERIAL;1239	11/11/2017	5	EA	21.27	EA	USD	106.35
TCPC-6RUVB-OR25F_ Slim Line Category 6 Patch Cable Assembly tem completely delivered							
70000471 - ECDC-MATERIAL;1239	11/11/2017	1	EA	1068.38	EA	USD	1,068.38
Hangers, Misc. and spendables tem completely delivered							
70000471 - ECDC-MATERIAL;1239	11/11/2017	2	EA	519.13	EA	USD	1,038.26
RG-6 quad shield CMR Cable x 2000' tem completely delivered							
70000471 - ECDC-MATERIAL;1239	11/11/2017	20	EA	3.58	EA	USD	71.60
Single RG6 plate and cplg. tem completely delivered							
70000471 - ECDC-MATERIAL;1239	11/11/2017	1	EA	783.48	EA	USD	783.48
CATV distribution equipment and connectors \$ tem completely delivered							
70000471 - ECDC-MATERIAL;1239	11/11/2017	1	EA	142.46	EA	USD	142.46
Misc. and spendables tem completely delivered							
70000471 - ECDC-MATERIAL;1239	11/11/2017	1	EA	750.83	EA	USD	750.83
46353-702, 19" x 6.5' black rack tem completely delivered							
70000471 - ECDC-MATERIAL;1239	11/11/2017	2	EA	1205.40	EA	USD	2,410.80
30095-702, 6"w DS Master Cable Section							
Terms and Conditions of this Purchase Order are available a	t http://sandiego	o.gov/purchasing/		SEE	LA	STI	PAGE
IMPORTANT!							
t 7 Ft 7 St 7 St 7 At 7 3 T -	tem completely delivered 70000471 - ECDC-MATERIAL;1239 4angers, Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 RG-6 quad shield CMR Cable x 2000' tem completely delivered 70000471 - ECDC-MATERIAL;1239 Single RG6 plate and cplg. tem completely delivered 70000471 - ECDC-MATERIAL;1239 CATV distribution equipment and connectors \$ tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and Spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and Spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and Spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and Spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 Misc. and Conditions of this Purchase Order are available a MINORTANT!	tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 4angers, Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 RG-6 quad shield CMR Cable x 2000' tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 Single RG6 plate and cplg. tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 CATV distribution equipment and connectors \$ tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 disc. and conditions of this Purchase Order are available at http://sandiego IMPORTANT!	tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 tangers, Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 2 RG-6 quad shield CMR Cable x 2000' tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 20 Single RG6 plate and cpig. tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 CATV distribution equipment and connectors \$ tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 disc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 dis539-702, 19' x 6.5' black rack tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 2 0095-702, 6''w DS Master Cable Section Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/	tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 EA Arangers, Misc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 2 EA RG-6 quad shield CMR Cable x 2000' tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 2 EA Single RG6 plate and cplg. tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 EA CATV distribution equipment and connectors \$ tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 EA Gisc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 EA Gisc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 EA Gisc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 EA Gisc. and spendables tem completely delivered 70000471 - ECDC-MATERIAL;1239 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 2 EA Gisc. and spendables tem completely delivered 11/11/2017 2 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 1 EA Gisc. and spendables tem completely delivered 11/11/2017 12 EA Gisc. and spendables tem completely delivered 11/11/2017 12 EA Gisc.	Item completely delivered       11/11/2017       1       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       2       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       20       EA         3.58       Single RG6 plate and cpig.       3.58         Iem completely delivered       11/11/2017       1       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       2       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       2       EA         16353-702, 19" x 6.5" black rack em completely	Imm completely delivered       11/11/2017       1       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       2       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       2       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       2       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       20       EA         3.58       EA         imm completely delivered       11/11/2017       1       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       1       EA         3ingle RG6 plate and cpig.       11/11/2017       1       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       2       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       2       EA         70000471 - ECDC-MATERIAL;1239       11/11/2017       2       EA	Iam completely delivered         Import         Import <thimport< th=""></thimport<>





Date: 11/20/2017

Page 4 of 6

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
***	Item completely delivered				
22	770000471 - ECDC-MATERIAL;1239	11/11/2017	5 EA	134.74 EA	USD 673.7
**	12" universal runway 10250-712 Item completely delivered				
23	770000471 - ECDC-MATERIAL;1239	11/11/2017	4 EA	13.52 EA	USD 54.0
**	Butt Splice Kit 11301-701 Item completely delivered				
24	770000471 - ECDC-MATERIAL;1239	11/11/2017	6 EA		USD 84.7
**	Junction splice Kit 11302-701 Item completely delivered				
25	770000471 - ECDC-MATERIAL;1239	11/11/2017	1 EA	50.74 EA	USD 50.7
**	3" channel rack to runway mounting plate 10595-712 Item completely delivered				
26	770000471 - ECDC-MATERIAL;1239	11/11/2017	1 EA	54.38 EA	USD 54.3
**	Cable Runway Elevation Kit 10506-706 Item completely delivered				
27	770000471 - ECDC-MATERIAL;1239	11/11/2017	4 EA	86.41 EA	USD 345.6
**	Triangular Support Brkt 11312-712 Item completely delivered				
28	770000471 - ECDC-MATERIAL;1239	11/11/2017	4 EA		USD 176.8
**	wall angle support Kit 11421-712 Item completely delivered				
29	770000471 - ECDC-MATERIAL;1239	11/11/2017	2 EA	82.48 EA	USD 164.9
**	Runway center support Kit, 12362-712 Item completely delivered				
30	770000471 - ECDC-MATERIAL;1239	11/11/2017	1 EA	181.11 EA	USD 181.1
***	Analog patching materials Item completely delivered				
31 Notes: Th	ne Terms and Conditions of this Purchase Order are availa	ble at http://sandiego	.gov/purchasing/		
	IMPORTANT!		ST PAGE		





Date: 11/20/2017

Page 5 of 6

Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord Uo	Unit Price/Pr Conv Fac	c Uom tor	Exten	ded Price
	11/11/2017	1 EA	525.73	EA	USD	525.73
Viking E-1600-A Emergency Phone Item completely delivered						
770000471 - ECDC-MATERIAL;1239	11/11/2017	1 EA	543.33	EA	USD	543.33
Misc. and spendable materials Item completely delivered						
770000470 - ECDC-LABOR;1239	12/14/2017	14 EA	302.50	EA	USD	4,235.00
INSTALL CAT6 OUTLET. PLACE HANGERS, CABLE, JACKS Item completely delivered	, TERMINATE & TEST					
770000470 - ECDC-LABOR;1239	12/14/2017	14 EA	110.00	EA	USD	1,540.00
INSTALL CUSTOMER PROVIDED WAP AND MOUNTING HA	ARDWARE					
770000471 - ECDC-MATERIAL;1239	11/11/2017	6 EA	308.63	EA	USD	1,851.78
TE520R-XXLL, 62 0 SERIES, CAT 6 UTP CABLE, CMR, PULI Item completely delivered	_ BOX X1000					
770000471 - ECDC-MATERIAL;1239	11/11/2017	28 EA	11.47	EA	USD	321.16
2291216-5_CAT 6 MODULAR JACK, UNSHIELDED KL, ORAI Item completely delivered	NGE					
770000471 - ECDC-MATERIAL;1239	11/11/2017	1 EA	243.23	EA	USD	243.23
PP24AC6T_24-PORT, CAT 6, DYNAMIC ANGLE, WITH LOAI Item completely delivered	DED 6-PACK MODULES					
770000471 - ECDC-MATERIAL;1239	11/11/2017	1 EA	68.79	EA	USD	68.79
1375158-1_2U FINGER DUCT BACLE MGMT. PANEL W/COV Item completely delivered	VER-FRONT & REAR					
770000471 - ECDC-MATERIAL;1239	11/11/2017	28 EA	13.07	EA	USD	365.96
TCPC-6RUVB-OR07F SLIM LINE CATEGORY 6 PATCH CAB Item completely delivered	BLE ASSEMBLY					
770000471 - ECDC-MATERIAL;1239	11/11/2017	1 EA	266.67	EA	USD	266.67
HANGERS, MISC AND SPENDABLES						
he Terms and Conditions of this Purchase Order are availa	able at http://sandiego.g	gov/purchasing/	SFF	LA	ST	PAGF
IMPORTANT!						
e prompt payments, PO # must appear on all shipr	nents and invoices; a	all invoices must be				
	Serv#         Service Description           770000471 - ECDC-MATERIAL;1239         Viking E-1600-A Emergency Phone Item completely delivered           770000471 - ECDC-MATERIAL;1239         Misc. and spendable materials Item completely delivered           770000470 - ECDC-LABOR;1239         INSTALL CAT6 OUTLET. PLACE HANGERS, CABLE, JACKS Item completely delivered           770000470 - ECDC-LABOR;1239         INSTALL CUSTOMER PROVIDED WAP AND MOUNTING HA Item completely delivered           770000471 - ECDC-MATERIAL;1239         TES20R-XXLL, 62 0 SERIES, CAT 6 UTP CABLE, CMR, PULI Item completely delivered           770000471 - ECDC-MATERIAL;1239         2291216-5_CAT 6 MODULAR JACK, UNSHIELDED KL, ORAI Item completely delivered           770000471 - ECDC-MATERIAL;1239         2291216-5_CAT 6 MODULAR JACK, UNSHIELDED KL, ORAI Item completely delivered           770000471 - ECDC-MATERIAL;1239         PP24AC6T_24-PORT, CAT 6, DYNAMIC ANGLE, WITH LOAD Item completely delivered           770000471 - ECDC-MATERIAL;1239         1375158-1_2U FINGER DUCT BACLE MGMT. PANEL W/COT Item completely delivered           770000471 - ECDC-MATERIAL;1239         TCPC-6RUVB-OR07F SLIM LINE CATEGORY 6 PATCH CAE Item completely delivered           770000471 - ECDC-MATERIAL;1239         TCPC-6RUVB-OR07F SLIM LINE CATEGORY 6 PATCH CAE Item completely delivered           770000471 - ECDC-MATERIAL;1239         TCPC-6RUVB-OR07F SLIM LINE CATEGORY 6 PATCH CAE Item completely delivered           770000471 - ECDC-MATERIAL;1239         TCPC-6RUVB-OR07F SLIM LINE CA	Servi#         Service Description           770000471 - ECDC-MATERIAL;1239         11/11/2017           Viking E-1600-A Emergency Phone Item completely delivered         11/11/2017           770000471 - ECDC-MATERIAL;1239         11/11/2017           Misc. and spendable materials Item completely delivered         11/11/2017           770000470 - ECDC-LABOR;1239         12/14/2017           INSTALL CAT6 OUTLET. PLACE HANGERS, CABLE, JACKS, TERMINATE & TEST Item completely delivered         11/11/2017           770000470 - ECDC-LABOR;1239         12/14/2017           INSTALL CUSTOMER PROVIDED WAP AND MOUNTING HARDWARE Item completely delivered         11/11/2017           770000471 - ECDC-MATERIAL;1239         11/11/2017           770000471 - ECDC-MATERIAL;1239         11/11/2017           72291216-5_CAT 6 MODULAR JACK, UNSHIELDED KL, ORANGE Item completely delivered         11/11/2017           770000471 - ECDC-MATERIAL;1239         11/11/2017           72291216-5_CAT 6 MODULAR JACK, UNSHIELDED KL, ORANGE Item completely delivered         11/11/2017           770000471 - ECDC-MATERIAL;1239         11/11/2017           770000471 - ECDC-MATERIAL;1239         11/11/2017           1375164 - 20 FINGER DUCT BACLE MGMT. PANEL W/COVER-FRONT & REAR Item completely delivered         11/11/2017           770000471 - ECDC-MATERIAL;1239         11/11/2017           770000471 - ECDC-M	Serviz         Servize Description           77000471 - ECDC-MATERIAL;1239         11/11/2017         1         EA           Viking E-1600-A Emergency Phone tem completely delivered         1         11/11/2017         1         EA           77000471 - ECDC-MATERIAL;1239         11/11/2017         1         EA           Mis: and spendable materials them completely delivered         1         14         EA           77000470 - ECDC-LABOR;1239         12/14/2017         14         EA           INSTALL CAT6 OUTLET. PLACE HANGERS, CABLE, JACKS, TERMINATE & TEST tem completely delivered         EA           77000470 - ECDC-LABOR;1239         12/14/2017         14         EA           INSTALL CUSTOMER PROVIDED WAP AND MOUNTING HARDWARE tem completely delivered         EA         EA           77000471 - ECDC-MATERIAL;1239         11/11/2017         6         EA           77000471 - ECDC-MATERIAL;1239         11/11/2017         28         EA           2291216-5_CAT 6 MODULAR JACK, UNSHIELDED KL, ORANGE tem completely delivered         11/11/2017         1         EA           770000471 - ECDC-MATERIAL;1239         11/11/2017         1         EA           770000471 - ECDC-MATERIAL;1239         11/11/2017         1         EA           770000471 - ECDC-MATERIAL;1239         11/11/2017	Serviz         Servize Description         Conv Fac           770000471 - ECDC-MATERIAL;1239         11/11/2017         1 EA         525.73           Waing E-1800-A Emergency Phone Item completely delivered         1         543.33         543.33           Mac. and spendable materials Item completely delivered         1         EA         543.33           Mac. and spendable materials Item completely delivered         1         EA         302.50           INSTALL CATE OUTLET. PLACE HANGERS, CABLE, JACKS, TERMINATE & TEST         1         10.00           INSTALL CUSTOMER REQVIDED WAP AND MOUNTING HARDWARE Item completely delivered         110.00         110.00           T70000470 - ECDC-LABOR;1239         12/14/2017         14 EA         110.00           INSTALL CUSTOMER REQVIDED WAP AND MOUNTING HARDWARE Item completely delivered         110.00         111.00           T70000471 - ECDC-MATERIAL;1239         11/11/2017         6 EA         308.63           TESZDR-XXLL & 60 SERIES, CAT 6 UTP CABLE, CMR, PULL BOX X1000         11.47         2231216-5_CAT 6 MODULAR JACK, UNSHIELDED KL, ORANGE         11.47           770000471 - ECDC-MATERIAL;1239         11/11/2017         1 EA         243.23           P24AC6T_24-PORT, CAT 6, DYNAMIC ANGLE, WITH LOADED 6-PACK MODULES         11.47         124.323           T770000471 - ECDC-MATERIAL;1239         11/11/	Serviz         Servize Description         Conv Each           770000471 - ECDC-MATERIAL;1239         11/11/2017         1         EA         \$25.73         EA           770000471 - ECDC-MATERIAL;1239         11/11/2017         1         EA         \$25.73         EA           770000471 - ECDC-MATERIAL;1239         11/11/2017         1         EA         \$43.33         EA           Mic: and spontable materials item completely delivered         11/11/2017         1         EA         \$43.33         EA           770000471 - ECDC-LABOR;1239         12/14/2017         14         EA         302.50         EA           INSTALL CATS OUTLET, PLACE HANGERS, CABLE, JACKS, TERMINATE & TEST Item completely delivered         110.00         EA         308.63         EA           T70000471 - ECDC-MATERIAL;1239         11/11/2017         1         EA         308.63         EA           TES20R-XXLL & 62 O SERIES, CAT 6 UTP CABLE, CMR, PULL BOX X1000         11.47         EA         11.47         EA           2201216-5, CAT 6 MODULAR JACK, UNSHIELDED KL, ORANGE         11.11/2017         1         EA         243.23         EA           170000471 - ECDC-MATERIAL;1239         11/11/2017         1         EA         243.23         EA           12017 - ECO-MATERIAL;1239         11	Serviz         Servize Description         Conv.Factor           770000471 - ECOC-MATERIAL;1239         11/11/2017         1 <ea< td="">         525.73         EA         USD           Wing G-F1005-Rengency Phone Imm completely delivered         11/11/2017         1<ea< td="">         543.33         EA         USD           770000471 - ECOC-MATERIAL;1239         11/11/2017         1<ea< td="">         543.33         EA         USD           770000470 - ECOC-LABOR;1239         12/14/2017         14<ea< td="">         302.50<ea< td="">         USD           NISTALL CATE OUTLET: PLACE HANGERS, CABLE, JACKS, TERMINATE &amp; TEST         110.00<ea< td="">         USD           NISTALL CUSTOMER PROVIDED WAP AND MOUNTING HARDWARE         110.00<ea< td="">         USD           Item completely delivered         11/11/2017         6<ea< td="">         308.63<ea< td="">         USD           770000471 - ECOC-MATERIAL;1239         11/11/2017         6<ea< td="">         USD         11.47<ea< td="">         USD           NISTALL CUSTOMER PROVIDED WAP AND MOUNTING HARDWARE         11.47         EA         USD         11.47         EA         USD           TESJOR-XXLL, 62 0 SERIES, CAT 6 UTP CABLE, CMR, PULL BOX X1000         11.47         EA         USD         11.47         EA         USD           770000471 - ECOC-MATERIAL;1239         11/11/2017         1<ea< td="">         243.23</ea<></ea<></ea<></ea<></ea<></ea<></ea<></ea<></ea<></ea<></ea<></ea<>





Date: 11/20/2017

Page 6 of 6

ne#	Item ID/Des Serv#	cription <u>Service Description</u>	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	Item completely delivered					
tes: T	he Terms and Conditions of this	Purchase Order are availab	le at http://sandiego	.gov/purchasing/		
					Line Item Total \$	
		IMPORTANT!			Tax \$	
	e prompt payments, PO # n to <i>Billing</i> Contact person at <i>B</i>	uet ennear en ell chinm	anto and invalore	all invaices must be	PO Total \$	54,484.